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May 10, 2017

1) What is the probability of spinning the
spinner twice and getting red and a
green?
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2) What is the probability of sp?nning the
spinner twice and getting red and a pink?
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In word problems some words that can be used to suggest an
event is INDEPENDENT is:

“PUA anaB®) = P (A) % P@’)

Ex) What is the probability of drawing a 2 from a deck of cards then
replacing the card and drawing a red 5 from a deck of cards?
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P Acs) = () x BA) X P(A) % P(A)
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The rule for independent events applies when you have more than
2 events,

P(A and B and C and D)
= P(A) x P(B) x P(C) x P(D)

Ex ) What is the probability of tossing a head on a coin, rollinga 2 on a .

d/ig and spinning a spinner that lands on purple? ¢
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